PLACA DE ACCESO PUENTE ARROYO AGUAS VIVAS 2

DATOS GENERALES
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Materiales
PLACA DE ACCESO
Concreto: fc= 210 kicm?
Refuerzo: fy= 4200 k/cm?
Carga muerta
Rodadura
Wem= 0,30 x 2,40 + Trod x Grod + Trell x Gell= 1,37 t/m
Espesor= 0,05 m
2
Mem = Wcm x 3,20 = 1,75 tm - 5
8 Peso especifico = 2,20 t/m
Cargaviva Camion ; C-40-95 Relleno
Mcv+i= 1,40 x 3,20 x 1,30 = 5,82 t-m Espesor= 0,30 m
Peso especifico= 1,80 t/m®
DISENO
Mu= 1,3 xMcm+ 2,2 xMcv+i= 15,092 t-m
Seccion: b= 100 d= 24
p= 0,0076 As= 18,2 cm’m No. 6 c/15
Refuerzo de reparticion :
Asrep = 55 < 50 % = Asrep= 31 %
v Lc
Asrep= 0,31 x 18,2 = 5,61 cm?/m No. 4 «c/22



